CHRISTIAN BALE GIVES A WEIGHTY
PERFORMANCE IN 'AMERICAN HUSTLE’

1.

. What is Irv's point about 'ruining

Irv (Christian Bale) accuses
Richie of changing the ...
a) plan

b) rules

¢) timing

Why does Sydney like Richie's idea?

a) She wants to do something dangerous.
b) She thinks he has vision.

c) She sees lots of money in it.

America'?
a) It's bad to give people an even lower opinion of politicians.

b) The government has allowed big business to get out of control.

¢) The Vietnam War has created conflict between the older and younger generations.

. What does he think Richie's motivation is?

a) unrealistic idealism
b) a desire for revenge

¢) ambition

What does he think of the project? 1

a) It won't be completely successful. | | 7

b) It's much too risky.

¢) There's no point in it. 2. | ...
3. | ...
a. | ...
5. | ...
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